Safety Light Curtain
F3SJ-BOOIOOP25-02TS Series

Quick Installation Manual

Relevant manual Cat. No.
Safty Light Curtain F3SJ-B-02TS User's Manual | SCHG-736

© OMRON Corporation 2017-2018 All Rights Reserved.

Original instructions 3127292-5A



Introduction

Thank you for purchasing the F3SJ-BOOOMOP25-02TS Series Safety Light Curtain (hereinafter referred to
as the "F3SJ-B-02TS").

This document is a brief description from wiring to pre-operation checklists / maintenance checklists of F3SJ-B-02TS.
For details, download and read F3SJ-B-02TS operation manual and user's manual from Omron's website.
https://industrial.omron.us/en/home

Table of Contents

1. WHAt IS INCIUAEA ...t e e st e e s et e st e e e sne e e e nanee s 1
2. SYSLEM COMPONENTS ...ttt e et e ettt e e sttt e e asbe e e steeeestbeaesaseeeabeeeeebeeesanbeeaanbeeeaanneeanas 2
3. Light Curtain SELUP FIOW .........ooiuiiiiiiiiee ettt ettt e be e e e e beesnnas 2
4. Function Selection FIOW Chart ...........cooiiiiiiiiii et 3

5.Wiring Examples
5-1. EDM not used, auto reset mode, external test used, muting function not used, PNP output ...4
5-2. EDM used, auto reset mode, external test used, muting function not used, PNP output ......... 4

6. Mounting and Beam AlIGNMENT ..ot et
6-1. Mutual Interference Prevention ...
6-2. Distance from Reflective Surfaces
6-3. Safety Distance.........cccoeevvviiniiinieiccec e
6-4. External dimensions to attach the top/bottom brackets (F39-LJB1) and intermediate brackets (F39-LJB2)... 6

6-5. Mounting and Beam AlIGNMENt ...t e e 8
7. Pre-Operation Checklists / Maintenance Checklists............c.cooiiiiiiiiiiiiiiici e 11
Suitability for Use/Contact INfOrmation ..............coiiiiiiiiieie e e 13
1. What is Included
Product Pcs & Details
F3SJ-BOOOOP25-02TS main unit Emitter x 1, Receiver x 1

Functional Settings

Function Setting
External Test Enabled when Vs-3V to Vs*1 applied
External Device
Monitoring (EDM)

Switching between enable/disable is available by wiring

In case of Basic System

Control Output Information (Output Inversion Function:
Enabled)

Auxiliary Output
In case of Muting System

Muting/Override Output Information (external indicator

connected)
Muting Enabled when muting Key Cap F39-CN10 attached
Override Enabled when muting Key Cap F39-CN10 attached

*1 Vs here means the voltage value under use environment.
N—
ﬂ E§ For details, refer to F3SJ-B-02TS series user's manual.

w

Operation Manual
Quick Installation Manual (this document) 1

ﬂ\E§ For ratings/specifications, input/output circuit, LED indicator status and troubleshooting, refer to Safety Light Curtain F3SJ-B-
02TS Series User's Manual.

F3SJ-B-02TS

Quick Installation Manual



2. System Components

Indicator
Emitter oy

Connection cable
(Gray) N

Extension cable

Beam center-line mark

Receiver

Connection cable (Black
- (Black)

1. Top-beam-state indicator (Blue)

2. Stable-state indicator (Green)
3. ON/OFF-state indicator (Green/Red)
4. Lockout indicator (Red)

5. Power indicator (Green)

6. Test indicator (Green)

7. Muting error indicator (Green)
8. Muting input 1 indicator (Green)
9. Muting input 2 indicator (Green)

10. Bottom-beam-state indicator (Blue)

3. Light Curtain Setup Flow

Emitter

Receiver

el — ) B o F |

1. Top-beam-state indicator (Blue)

2. Stable-state indicator (Green)
3. ON/OFF-state indicator (Green/Red)
4. Lockout indicator (Red)

5. Communication indicator (Green)
6. Configuration indicator (Green)
7. Internal error indicator (Red)

8. Not used

9. External device monitoring indicator (Green)

10. Bottom-beam-state indicator (Blue)

o )

J

Function Selection

J

Wiring

J

Mounting/Beam Alignment

J

Pre-Operation Checklists/Maintenance Checklists

J

(o )

F3SJ-B-02TS

Quick Installation Manual

. .page 3

. .page 4

. .page 5

. .page 11



| = |Mounting/BeamAIignment| = |

Pre-Operation Checklist /
Maintenance Checklists

Function Selection | = | Wiring

4. Function Selection Flow Chart

Required system configuration depends on functions to be used. Use the following flow chart to determine

the system.

Using Muting Function

NO

YES

Basic System

Muting System *1

*1 Muting Key Cap (F39-CN10) is necessary.

ﬂ\E§ For configuration to use the muting function, refer to F3SJ-B-02TS series user's manual.

F3SJ-B-02TS

Quick Installation Manual



- - o ; ; Pre-Operation Checklist /
Function Selection | mp | Wiring | =» | Mounting/Beam Alignment | =» | Maintenance Checkists

5.Wiring Examples

For wiring examples of input/output circuit and other wiring examples than below, refer to F3SJ-B-02TS series user's manual.

5-1. EDM not used, auto reset mode, external test used, muting function not
used, PNP output

Receiver

F39-JDOA-L F39-JDOA-D

- [ = .y = ) = = - Y
5 3| g g o3 g sl g Bl OZ| & o3 o2
= @ 13 = 8 g 3 [5 -t s £ z £
2 g = B L 5 ) 5 £ L 2 N [
- = Q Zl Bl gl < &=
o o D 2 > > o £3 = o =}
4 £ N 3 2l =85 2 2
pl =} S N £l 55 = 2
5 2 “ gl <3 ] 5
4 5 8 Z l 3
z = S > >
eEl—-4 k3] T
8 sl =
H %]
3
. | Q@
\ £
1 % %
5 +24 VDC
Power
supply
S1 : External test switch (connect to 0 V if a switch is not required) —l—
S2 : Lockout reset switch (connect to 24 V if a switch is not required)
KM1, KM2 : Safety relay with force-guided contact (G7SA) or magnetic contactor
K1 : Load or PLC, etc. (for monitoring)

*1 Use a switch for micro loads (Input specifications: 24V, 1.0mA or less)
*2 F3SJ can work even if K1 is not connected.

5-2. EDM used, auto reset mode, external test used, muting function not
used, PNP output

Receiver

F39-JDOA-L F39-JDOA-D

3 o T T 2 < g T B 2 T e =
gl & & £ 3 2 s g 3 g g & :z
2] IS I R S & sl 3| £ g 2 I
a) = 2
° b3 3 E] > > £ El bot o o
3| & 2 3 s g g g &
z| 8| gl 2| 3| 3
z = S i) 2| 2|
sfws| & 2
sfms g &
]
“1 g (kM2 %
i}
+24 VDC
Power
supply
I
S1 : External test switch (connect to 0 V if a switch is not required) —
S2 : Lockout reset switch (connect to 24 V if a switch is not required)
KM1, KM2 : Safety relay with force-guided contact (G7SA) or magnetic contactor
K1 : Load or PLC, etc. (for monitoring)

*1 Use a switch for micro loads (Input specifications: 24V, 1.0mA or less)
*2 F3SJ can work even if K1 is not connected.

F3SJ-B-02TS

Quick Installation Manual



- - - - ; Pre-Operation Checklist /
Function Selection | mp | Wiring | = | Mounting/Beam Alignment | =) | N S

6. Mounting and Beam Alignment

LL:E:\ For brackets other than top/bottom brackets (F39-LJB1) and intermediate brackets (F39-LJB2) as well as external dimensions
and mounting, refer to F3SJ-B-02TS series user's manual.

6-1. Mutual Interference Prevention
W Series Connection
Up to three sets of F3SJ-B-02TSs can be series-connected. Series connection allows them to be used as a
safety light curtain, requiring only one set to be wired to a controller and preventing mutual interference.
If any one set of series-connected F3SJ-B-02TS is blocked, both of the safety outputs turn OFF. The indica-
tion LED for each F3SJ-B-02TS turns ON separately.
« Number of connections: Up to three sets
* Total number of beams: Up to 192 beams
» Connection cable length between two F3SJ-B-02TSs in series connection: 7 m max.
ENo Connection
Mutual interference is prevented in up to 3 sets, using interference light avoidance algorithm. If 4 or more
sets of F3SJ-B-02TS are installed and are not connected to each other, arrange them so that mutual interfer-
ence does not occur. If 2 sets are installed near each other, reflection from the surface of the F3SJ-B-02TS
may cause mutual interference. When mutual interference occurs, the safety outputs are turned OFF in a
moment or the F3SJ-B-02TS enters lockout. Combining countermeasures 1 to 4 shown below is effective.

1. Install a physical barrier between 2 sets

2. Alternate the direction of emission between 2 sets (alternation) If 2 sets are installed near each other,

reflection from the surfaces may cause mutual interference. For such a case, it can be improved by
reducing operating range through the setting tool (see Step 3).

3. Reducing operating range (setting change by the setting tool is required)

4. Keep sufficient distance between the F3SJ-B-02TSs so that mutual interference does not occur
6-2. Distance from Reflective Surfaces
Install the sensor system at distance D or further from highly reflective surfaces such as metallic walls, floors,
ceilings, or workpieces, as shown below.

Reflective ceiling N Reflective surface N

Distance between an emitter

D D X " Allowable installation
Emitter Receiver Emitter . . Receiver and a receiver X
5 5 ; distance D
@ S @ (operating range L)

Detection zone 0.2to3m 0.13m
L

L—— More than 3 m L/2 xtan5 ° =L x 0.044 (m)

ID
Reflective floor

6-3. Safety Distance
How to calculate the safety distance specified by International Standard ISO 13855(European standard EN
1ISO 13855)(Reference)
HIf a person approaches the detection zone of the F3SJ-B-02TS perpendicularly
S=KxT+C...Formula(1)
« S: Safety distance
* K: Approach speed to the detection zone
« T: Total response time of the machine and F3SJ-B-02TS
« C: Additional distance calculated by the detection capability of the F3SJ-B-02TS
<System that has detection capability of 30mm or less> Hazard

Use K =2,000mm/s and C = 8 x (d - 14mm) in formula (1) for the calculation.

S =2,000mm/s x (Tm + Ts) + 8 x (d - 14mm)

* S = Safety distance (mm)

* Tm = Machine's response time (s)

* Ts = Response time of the F3SJ-B-02TS from ON to OFF (s)

« d = Detection capability of the F3SJ-B-02TS (mm)

[ Safety distance (S)

Please refer to the user's manual for calculation of following safety distance.

B Possible circumventing by reaching over the detection zone

M In case of horizontal approach of a human body to F3SJ-B-02TS's detection zone

B How to calculate the safety distance specified by American standard ANSI B11.19(reference)

F3SJ-B-02TS

Quick Installation Manual



- - - ; ; Pre-Operation Checklist /
= | Wiring | =» | Mounting/Beam Alignment | =» | Maintenance Checkists

6-4. External dimensions to attach the top/bottom brackets (F39-LJB1) and intermediate brackets (F39-LJB2)
HEDimensions (Check position)
[Backside mounting]

30
Top/Bot
Tpaotom oo [F227] das 12,
(F39-LJB1) E é 2-M8 2 position
4-M5
M3 x 6 screw,_y_| i ) . %f @
] G | |
) © 0
3 _ _
1 Mount
&
Intermediate 2 ; ‘ b
52?85382) S> 22 22 le hAI\gn
& E; eams
(3
= =
alsl o LI ¢ of 2| o < N I N e
w| 1 g < — ] _
< g
g g
< S © 2-M5 2-M5
g
Il & (I |
|-
w w w
22
Top/Bottom
Bracket
(F39-LIB1)
N 1
PRt © g
PaY
A%
@
- M3 x 6 screw ©
® ¥ <MS5 screw fixed> <M8 screw fixed>
©
oF § &
35 [ Unit: mm]
48
Dimensions A to E and P
A C+69
B C+42.2
C 4-digit number of the type name (protective height)
D C-45
E Depends on the protective height. See the table below.
P 20
Dimensions E
Protective height Number of Intermediate Brackets Dimensions E
0225 to 0545 0 -
0625 to 1105 1 B/2
1185 to 1585 2 B/3
1665 to 1985 3 B/4

* Value E must be 530 mm or less when not using value E obtained from the calculation above.

- If the protective height exceeds 545 mm, use the intermediate brackets as many as and on the positions specified in the
G}_] dimensional drawing. Otherwise ratings/specifications cannot be satisfied.

:\("] If load is applied to the sensor unit in your environment, add intermediate bracket(s).
Q

F3SJ-B-02TS

Quick Installation Manual 6



Check
position

D

4
o
c
2

O

Align
beams

| = |Mounting/Beam AIignment| - |Pre-_0peration Checklist /

Maintenance Checklists

Function Selection =) | Wiring
HEDimensions (Check position)
[Side mounting]
Top/Bottom 30
Bracket ;
dia.9 19, 19
(F39-LJB1) 19 <=
\ 6.5 ol %
w| o M3 x 6 screw 4-M5
} I’\i} - ¥
i o1
0 = oo ® (|
i
-9
Intermediate [
Bracket 2
(F39-L3B2) =T [T M@ 22 ‘
g
o
o o ™ 4 o 2 ~ 11
ol < 1 g < -
¥ 4 g
a
4 © 2-M5
22 >< (|
w
P w
Top/Bottom
Bracket
(F39-LJB1) -
®
1) It
8 @
M3 x 6 screw

33.6
47.8

Dimensions A to E

<M5 screw fixed>

A C+69

B C+42.2

C 4-digit number of the type name (protective height)

D C-45

E Depends on the protective height. See the table below.

Dimensions E
Protective height Number of Intermediate Brackets Dimensions E

0225 to 0545 0 -
0625 to 1105 1 B/2
1185 to 1585 2 B/3
1665 to 1985 3 B/4

*Value E must be 530 mm or less when not using value E obtained from the calculation above.

Rl

Q

yanY

N
v

@
)

<M8 screw fixed>

[Unit: mm]

If the protective height exceeds 545 mm, use the intermediate brackets as many as and on the positions specified in the
dimensional drawing. Otherwise ratings/specifications cannot be satisfied.

If load is applied to the sensor unit in your environment, add intermediate bracket(s).

For mounting brackets other than top/bottom brackets (F39-LJB1) and intermediate brackets (F39-LJB2) as well as external

dimensions, refer to F3SJ-B-02TS series user's manual.

F3SJ-B-02TS

Quick Installation Manual



- - - ; ; Pre-Operation Checklist /
= | Wiring | =» | Mounting/Beam Alignment | =» | Maintenance Checkists

6-5. Mounting and Beam Alignment

RSl

Mounting brackets are not included in the product. You must purchase them separately.

1. Loosen the intermediate mounting bracket bolts.

<Backside mounting>

Hexagon socket head
cap screw (M3 x 12)

Intermediate Bracket (1)

Intermediate Bracket (2)

Hexagon socket head
cap screw (M3 x 18)

Intermediate Bracket (3)

<Side mounting>
Turn the intermediate mounting bracket (2) so that
. . the intermediate bracket (1) should be the bottom.
Detach the intermediate
f mounting bracket (2) from (3). Intermediate
Bracket (2] .
Intermediate Bracket (1) @ Intermediate Bracket (1)

Hexagon socket head
cap screw (M3 x 12)
Intermediate Bracket (2)

Hexagon socket head
cap screw (M3 x 18)

Intermediate Bracket (3) Intermediate Bracket (3)

Intermediate
Bracket (2) Attach the intermediate

mounting bracket (2) to (3).

Intermediate Bracket (3)

2. Lightly tighten the intermediate mounting bracket to the case.
<Backside mounting> <Side mounting>

Intermediate Bracket (1)
Tighten lightly

Intermediate Bracket (1) Optical surface Optical surface

Intermediate
Bracket (2)

Intermediate
Bracket (3)

Intermediate
Bracket (3)

Sensor is secured by
Intermediate Brackets.

Sensor is secured by Intermediate Bracket (2)

Intermediate Brackets.

X For position and number of intermediate mounting brackets, refer to 6-4 of this document.

F3SJ-B-02TS

Quick Installation Manual

Check
position

@

=
o
=
2

O

Align
beams



- - - ; ; Pre-Operation Checklist /
= | Wiring | =» | Mounting/Beam Alignment | =» | Maintenance Checkists

3. Attach the top/bottom brackets to the case.

<Backside mounting>

Hexagon socket head cap screws (M3 x 6)
(Recommended tightening torque: 0.54Nm)

Check
position

L 4 >
Sy Anti-rotation hexagon
socket head cap screw
Top/Bottom (M3 x8)
securel Mounting Bracket

%é’

=
Q
c
2

<Side mounting>

Hexagon socket head cap screws (M3 x 6)
(Recommended tightening torque: 0.54Nm)

2@
Q
5 &

beams
Fy
Tighten Anti-rotation hexagon |
Top/Bottom socket head cap screw |~~~
— Mounting Bracket (M3x8)
4. Fix the unit on the wall.
<Backside mounting> <Side mounting>
0
Tighten
Tighten securely )
‘ secure P
0
H \U
E{exagon)sockel head cap screw Eﬁexagon socket head cap screw 0 [~ Hexagon socket head cap screw
M3 x 12) M3 x12 (M3x12)
(Recommended tightening (Recommended tightening i (Recommended tightening
torque: 0.54Nm) torque: 0.54Nm) torque: 0.54Nm
q
— — o
Adjust to the
mounting position
Tighten the screws to secure Tighten the screws to secure
the Top/Bottom Brackets the Intermediate Bracket (3)
and the wall. and the wall.
Wall-mounting screw (M5)
_+ Wall-mounting screw (M5)
™~ Wall-mounting screw (M5)
Wall-mounting screw (M5)
Wall-mounting screw (MS5) Wall-mounting screw (M5)
9 F3SJ-B-02TS

Quick Installation Manual



Function Selection =) |

Wiring

| = |Mounting/BeamAIignment| =) |

Pre-Operation Checklist /
Maintenance Checklists

5. Align beams based on the indicators.

Align the unit to the center
of the angle where stable

Align the unit to the center
of the angle where stable
indicator (STB) turns ON

EMITTER

indicator (STB) turns ON

Emitter

[(emrrrea [™

Receiver

TOP indicator

M On when top end beam is received

— (Blue) ~—~]

BTM indicator

I |l — (Blue) ~——1

1 M
H J’ On when light intensity is 170% or higher
STB indicator__~ ‘1 of receiving light output ON threshold

,h | _— (Green) ~—|

)

On when bottom end beam is received ]

18

\[recenen],.,,

RECEIVER

S~ The angle adjustment range of intermediate mounting bracket (F39-LJB2) is +/-30 degrees.
Q

6. Fully tighten the hexagon socket screws (M3 x 8/M3 x 18) of top/bottom brackets and intermediate brackets that were lightly tightened.

<Backside mounting>

Tighten
securel

<Side mounting>

(

<Backside mounting>

<Side mounting>

Tighten

secu reD

Q

Hexagon socket
head cap screw
(M3 x 18)

Enlarged view

Hexagon socket head cap screw (M3 x 8)
(Recommended tightening torque: 0.54Nm)

0
Tighten
securely )

- -

(Recommended tightening torque: 0.54Nm)

_«‘(‘-'} Please do not tighten each screw one by one. Fully tighten all of them in a balanced manner at all places.

S Tightening with torque exceeding the recommended value too much may lead to a failure.
)

F3SJ-B-02TS

Quick Installation Manual

Check
position

D

4
5]
=
2

O

Align
beams

10



- - - ! Pre-Operation Checklist /
= | Wiring | =» | Mounting/Beam Alignment | =» | Maintenance Checkists

7. Pre-Operation Checklists / Maintenance Checklists

After wiring, mounting and beam alignment are done, check the operation of the F3SJ-B-02TS.
Pre-Operation Checklists
After installation, the highest level administrator must use the following checklist to verify the operation, plac-
ing a check mark in each of the boxes.
B Checklists
- Installation Condition Check
OThe machine itself does not prevent the operation of safety functions such as stopping.
OThe hazardous part of a machine cannot be reached without passing through the detection zone of the
F3SJ-B-02TS.
OThe system is configured so that the F3SJ-B-02TS can always detect a worker who is working in the haz-
ardous zone.
OThe interlock reset switch is installed in a location that provides a clear view of the entire hazardous zone
and it cannot be activated from within the hazardous zone.
[OSafety distance has been calculated. Calculated distance: S =( ) mm
OThe actual distance is equal to or greater than the calculated distance. Actual distance = () mm
OReflective surfaces are not installed in prohibited zones.
ONot installed in a reflective configuration.
OWhen muting function is used, a muting sensor must be installed so that muting state should not occur
when a human body enters a detection zone of F3SJ-B-02TS by mistake.
OWhen muting function is used, a muting sensor must be installed so that muting state should not occur
when a human body enters a hazardous zone of a machine.
OWhen muting function is used, muting state can be checked from where a worker operates or adjust the
machine.
OA muting sensor consists of two independent devices.
ONot used in flammable or explosive atmosphere.

- Wiring Check Before Power Is Turned ON

OSharing the power supply with other devices may cause the F3SJ-B-02TS to be affected by noise or volt-
age drop. It is recommended that this safety component use a dedicated power supply but do not share
with other devices.

OThe power supply unit provides 24 VDC while complying with the EMC Directive, Low Voltage Directive,
output holding specification.

OThe power supply polarity is not connected in reverse.

OEmitter/receiver cables are properly connected to the respective emitters/receivers.

ODouble insulation is provided between input/output and hazardous voltage (commercial power source,
etc.).

OOutputs are not short-circuited to +24 V line.

OLoads are not connected to the +24 V line.

OAIl lines are not connected to commercial power source.

OModel of emitter and receiver must be the same.

OWhen two or more sets of F3SJ-B-02TSs are used, they are series-connected or mutual interference pre-
vention measures are taken.

OWhen two or more sets of F3SJ-B-02TSs are used in series connection, sensors other than the F3SJ-B-
02TS must not be connected.

OA secondary sensor farthest from its power supply has either of the following:
* Cap
* Key cap for muting

ONeither connector nor bracket must be loose.

OAuxiliary output must not be used as safety output.

OPower supply's 0 V must be grounded.

OWiring must not be bent, cracked, nor damaged.

-Operation Check While the Machine Is Stopped
OThe test rod is not deformed.

F3SJ-B-02TS

Quick Installation Manual



- - - ! Pre-Operation Checklist /
= | Wiring | =» | Mounting/Beam Alignment | =» | Maintenance Checkists

Depending on the unit's model and settings of floating blanking function, detection capability may vary.
Use a test rod with an appropriate diameter for inspection. The model name of test rod is as follows.

Model name Diameter
F39-TRD25 Dia. 25mm

OThe sensor can detect a test rod wherever it is in the detection zone. In other words, when a test rod is
inserted into the detection zone, the stable-state indicators (STB) turn off and the ON/OFF output-state
indicators turn red.

OWhen the external test function is used:
ON/OFF-state indicators turn red when the test input line is short-circuited to Vs-3V to Vs.
OWhen the external device monitoring function is used:
When the F3SJ-B-02TS is blocked and the external device monitoring input terminal is open, it enters a
lockout state.
OWhen using muting lamp:
Under muting state, a signal that indicates muting state is output to the auxiliary output.
Under override state, a signal that indicates override state is output to the auxiliary output.

-Checking that Hazardous Parts Stop While the Machine Operates
OThe hazardous parts stop immediately when a test rod is inserted into the detection zone at three posi-
tions: "directly in front of the emitter", "directly in front of the receiver", and "between the emitter and
receiver". (Use the appropriate test rod.)
OThe hazardous parts remain stopped as long as the test rod is in the detection zone.
OThe hazardous parts stop when the power of the F3SJ-B-02TS is turned OFF.
OThe actual response time of the whole machine is equal to or less than the calculated value.

Maintenance Checklists

To ensure safety, keep a record of the inspection results. When the user is a different person from those who
installed or designed the system, he/she must be properly trained for maintenance.

B Checklists

-Inspection at Startup and When Changing Operators

OThere is no approach route other than through the detection zone of the F3SJ-B-02TS.

OPart of the operator's body always remains in the detection zone of the F3SJ-B-02TS when working
around the machine's hazardous part.

OThe actual safety distance is equal to or greater than the calculated value.

OThere must be no dirt on or damage to the optical surface of the F3SJ-B-02TS.

OON/OFF-state indicators turn red when the test input line is short-circuited to Vs-3V to Vs.

OWhen muting lamp is used, a muting lamp must be clear and free of dirt or degradation.

OThe test rod is not deformed.

OWhen the power of the F3SJ-B-02TS is turned ON while nothing is in the detection zone, it must operate
as follows:

The power indicator and ON/OFF-state indicators turn green within 2 seconds after the F3SJ-B-02TS is
turned ON.

ONothing should exist in the detection zone and stable-state indicators must turn ON at power on.

OThe test rod is detected when it is moved around in the detection zone as shown in the diagram of Pre-
Operation Checklists. In other words, when a test rod is inserted into the detection zone, the stable-state
indicators (STB) turn off and the ON/OFF-state indicators turn red.

OWhen muting function is used, installation condition of muting sensor must not be changed.

F3SJ-B-02TS

Quick Installation Manual



- - - ; Pre-Operation Checklist /
= | Wiring | =» | Mounfing/Beam Alignment | =» | Maintenance Checkiss

OWhen muting function is used, muting state can be checked from where a worker operates or adjust the
machine.
ONeither connector nor bracket must be loose.

-Checking that Hazardous Parts Stop While the Machine Operates

OThe hazardous parts are movable when nothing is in the detection zone.

OThe hazardous parts stop immediately when a test rod is inserted into the detection zone at three posi-
tions: "directly in front of the emitter”, "directly in front of the receiver", and "between the emitter and
receiver". (Use the appropriate test rod.)

OThe hazardous parts remain stopped as long as the test rod is in the detection zone.

OThe hazardous parts stop when the power of the F3SJ-B-02TS is turned OFF while nothing is in the
detection zone.

-ltems to Inspect Every 6 Months or When Machine Settings Are Changed

In addition to inspection item at operation start, following items must also be verified.

OThe outputs of the F3SJ-B-02TS and the machine are properly wired.

OThe total number of times that the control relays/contactors have switched is significantly lower than their
design lives.

OThere is no disturbance light.

OWhen F3SJ-B-02TS is connected again, a secondary sensor farthest from its power supply has either of
the followings:
* Cap
 Key cap for muting

OPower supply's 0 V must be grounded.

OWiring must not be bent, cracked, nor damaged.

Suitability for Use

Omron Companies shall not be responsible for conformity with any standards, codes or regulations which apply to the
combination of the Product in the Buyer's application or use of the Product. At Buyer's request, Omron will provide applicable
third party certification documents identifying ratings and limitations of use which apply to the Product. This information by
itself is not sufficient for a complete determination of the suitability of the Product in combination with the end product,
machine, system, or other application or use. Buyer shall be solely responsible for determining appropriateness of the
particular Product with respect to Buyer’s application, product or system. Buyer shall take application responsibility in all
cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING SERIOUS RISK TO LIFE OR PROPERTY WITHOUT
ENSURING THAT THE SYSTEM AS A WHOLE HAS BEEN DESIGNED TO ADDRESS THE RISKS, AND THAT THE
OMRON PRODUCT(S) IS PROPERLY RATED AND INSTALLED FOR THE INTENDED USE WITHIN THE OVERALL
EQUIPMENT OR SYSTEM.

See also Product catalog for Warranty and Limitation of Liability.

OMRON Corporation Industrial Automation Company (Manufacturer)

Shiokoji Horikawa, Shimogyo-ku, Kyoto, 600-8530 JAPAN . .
Contact: www.ia.omron.com

Regional Headquarters

B OMRON EUROPE B.V. (Representative and Importer in EU) BOMRON ASIA PACIFIC PTE. LTD.
Wegalaan 67-69, NL-2132 JD Hoofddorp No. 438A Alexandra Road # 05-05/08 (Lobby 2),
THE NETHERLANDS Alexandra Technopark,
Tel: (31)-2356-81-300 / FAX: (31)-2356-81-388 Singapore 119967
Tel: (65) 6835-3011 / Fax: (65) 6835-2711
M OMRON ELECTRONICS LLC BOMRON (CHINA) CO., LTD.
2895 Greenspoint Parkway, Suite 200 Room 2211, Bank of China Tower,
Hoffman Estates, IL 60169 U.S.A. 200 Yin Cheng Zhong Road,
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787 PuDong New Area, Shanghai, 200120, China

Tel: (86) 21-5037-2222 / Fax: (86) 21-5037-2200

In the interest of product improvement, specifications are subject to change without notice.

F3SJ-B-02TS

Quick Installation Manual



t—IT45 A h—T>
F3SJ-BOOOOP25-02TS>/ 1) — X

DAVIA I A—)L=aTI)L

BEvY=17IL Y=aT7ILEF
t—T7F 454 M—F > F3SJ-B-02TS
1—H—Xv=aFI

SCHG-736

© OMRON Corporation 2017-2018 All Rights Reserved.
Original instructions



L &HIZ

ZDERIFEFE—TT 454 Fh—F 2 F3SJ-B OO OO P25-02TS 1) —X ( LAF F3SJ-B-02TS EFEYS
FTI)EBEVLIFOVEE, HYNESTIVET,

ARE(L F3SI-B-02TS DERBMNSEMEF v VETORNERLI-BHRAE T,

FEMBIC DU TIX F3SJ-B-02TS MEIRERBAZE., 1 —H—XX=_a 7Stz THA rhbFHrn—FK
L. &<BHmAHALIESL,

http://www.fa.omron.cojp

B

1. EEHO CHER 1
2. ZEDEFR 2
.54 A—TF Uy T Y TDFEN 2
4 HEeEIROO—Fv—+ 3
5. Bo iRl 4
5-1. EDM*EFH 71‘ Uty b E—F, ABTRANER, Sa-7 12V HRERMM. PNP HJ..4
5-2. EDM ﬁﬁﬁ FUty FE—R, BTN ERA. S1—F ¢ L EERER, PNP A 4
6. B Y {1+ ﬁ'l’:ﬁm.ﬂm 5
6-1. E & E (¥ F39-LJB1), i€ (fis F39-LUB2) #HRY {F1+ 2 BADHTETE 5
6-2. B U £ (+ A% & shan e 7
TBHEFI VY 10
CEREEE/ BEAVEDbEL 10
— =
1. R{EYMD ZHER
L HE. NE
F4F3sJ-BO OO OP25-02TS AR BB, BRIBFX
BIEMEERE
HaE BE
SERT R b Vs-3V~Vsx1 ENfNEF A %h
SR L—E= S(EDM) |BRARISTHZ/ WSO Y E X A6
R—2y H Y RT L
I DI R(H R ERHERE « A%
B S2-FAVIURATLE
Sa—TFTAVY/F—NR—=F A FHARER GHEBRRLT
%)
Sa—TF4vY Sa—T4 VAT —F v v THFI-CNIOEERFED
F—nN—54F Sa—FT 4V AFXT—F v v THFI-CNIOKEEED
*1ICZTOVsEIERRETHDEEETT,
(B BBIZoNTIE F3SU-B-02TS2 Y — X2 —H—X 7= 2 FAERBBL T 12
L,
HIREHBAE 3
JAY DAV R R—ILI= 27 LRI 1

[l g EH/MERE. AHAERK. LEDRRITOMAT/REZ—2 ST a—F 47220 TIE. FISU-B-02TSS ) —X1—H#—X
v=z 7/&&55931,'( (S,

F3SJ-B-02TS
VEPYVEPZI L == %



2. BEDAFH

ot

Kt E—S(T—Y

BIRI—R(R)

ERI—F

1. EIRAKRRLT(E)

2. RERTIER)
3. ON/OFFHH AR FLT (/)
4. OYITIRRTL(IR)
5. BRRRLR)
6. FARRRLTER)
| 3a-TAUY TR (])
3—TAVT AMETRA ()
ATV T ANRTRA(R)

10. FIRARRRLT(H)

3.53M b A—FToEYy Ty TDFN

<$E\Ag‘> <EHHFE>

b
!
o
i
o
il
Nl
1

EIRAKRRAT(HE)

RERTITER)
ON/OFFH ARRKT (/)
Oy 7 hRRLT ()
BIERRL ()
HWALERRAT (1))
WETS—RRLT (F)
E3idz]

AL —EZSRTAT ()

© @ N e oo A wN

10. FIHARRRAT(E)

[ yb7vT J

J

HREER

J

B2

J

BUAHT - Seddh

&

A

J

EiEFTvy

J

[ BbY

F3SJ-B-02TS
VEPYVEPZI LD ==V %

LIR=D
SAR=D
ER—=D
S0 R—=T



+ [
4 BEEEROD—Fv—F

| = |[mustr-cwmEz| = | @EFzos

AT SWEICLIYDERY AT LEBHENAED>TEET, UTOT7O0—Fr— MR, EOVATLA
BBEMREL TLEEL,

Sa—TAUTHEEDER

NO

Y

YES

[
-

S2—FAVTVRT L
*1

¥ 21—FT4U T BAEF—F vy T (FF39-CN10)ALETY,

Sa—T AU MEREEERATIBEDERBICONTIE, FISU-B-02TSS ) — X1 —H—I V=2 FAESRBRIES,

F3SJ-B-02TS
VEPYVEPZI L == %



- | ) | & [mymotmmEz| = [ @Eross

5. B4Rl

[La AHABEBKRE LV FRUNOEREHIZDNTIE, FISI-B-02TSS ) —X1—H—Iv=2 FAESRBLTLEEL,

5-1.EDM KA. A—rJEy b E—F, ABTRAMEA, Sa—TFT10TH
BERBEA. PNP 5

>

5
>

Bkl

fi2F39-JDOA-L fi2F39-JDOA-D

() BIERE)

2 = 2 2 o oz 2
| 13 R Rl F & |
N & < = # § & | A
(3 % no&® & &
B vlO® E OE
= 2
e —
o
=
*1 %2
+24V DC
T
St DT RARRAVF (RAVFHTBEHE, OV ISHH) =
s2 FBYIT I EIRRAYTF (RAVFOBFBIFHE. 24V ITH#E)
KM1, KM2 : BHIAAFERAEE—IT1UL— (F GISA) 3T Rvbaris4
K1 : A, PLCE (E=%R)

| BUNETT AR A Y FATLAR @ 24V, 1LOmAL ) ESHEACE S,
*2 KINRKRIEFHTHMFISIEEEL ET,

5-2. EDM . #A—r Uty b E—F, MBTRAMEA., Sa—F 1271k
KEM. PNPH A
>

>
:>

Ehaed

F2F39-JDOA-L f2F39-JDOA-D

(R) EIEHRC)
) EIERC)

= =
T Rl R®| = | B ®| ®l g z| T
» <l <] < SRzl §O8 T A
2 % il & B &
ROR tlOE E| ®
h 2
S
= KM1
; ® @ €
1 kM2,
+24V DC
EiR
T
st D SMEBTARRAVTF (RAVFHTRELIGE, OV [SHH) =
s2 L AYIT N EIRRAVTF (RAVFHARERIGE, 24V [THE)
KM1, KM2 : &AM FERFEE—TT4L— (B GTSA) 3T rvbar4s4

K1 : Bf. PLCH (E=4A)

1 BUNETRTRR A v FASEH - 24V, 10mALIT)Z SHEACESL,
*2 KINRIEHR THLMFISIEEIMEL FT,

F3SJ-B-02TS
VEPYVEPZI LD ==V %



myfr
B

&

WYt

&

hamE

- | ey | = [musi-cumz| & | wrroos
6. B 17 - SEhERE

(FE} ETF&EMFI9-LIBY), FRSEFF9-LIBOUNDEER, SMETES KUY [FHAEICDNTIE, FISU-B-02TSS ) —X 21—
Y72 FAESBLTILEEL,

6-1. E &8 (¥ F39-LJB1), Hifi€E (¥ F39-LUB2) MY {11 Z35E DTk
moRER (Y T EERE)
EEEY 8] 0

tT&8 19y @9 [BLLA

(F39-LJB1) 6.5 /

34.5
13.4
~
£
9

M3><6$~‘)\|_= ‘ %‘ % Y
T T
| o - [ |
&
) ; Ll
hpeE T 'S* I 22 ‘ 22
(F39-LJB2) e
N\ E3
LI kid @
SN | 5. (N 0 I N R I AR M B
S| T X < — g __
<[ -
W
RS 2 2-M5 2-M5
Sﬁi § L
22 - -
LtT&£8
(F39-LJB1) Dl
oD
A\ -
M3 x 6 w
© i M5k SE5E> Mgk CEE>
oF ;; €
35 g
48 [ B mm]
“HEA~E, PIZDLVT
~HEA C+69
<+i%B C+42.2
sHi&C P DATOKTF (FRHiE)
~t%D C-45
SHEE RHEMBICL 2 TEDLYET, TREERFZEW,
SHEP 20
SHAEIZDNVT
RHE FEEEDH <HEE
0225~0545 0 -
0625~1105 1 B/2
1185~1585 2 B/3
1665~ 1985 3 B/4

* FREEHEICEYR/ONIEEEHERA L B LMEREFXS30mmUT ET B,

RHUEMNBmMmERZ HIBE, HMTERICEBSATOIRENHE, HBICLEA> THRSEZERAL TS,
REICHLBWNES, ER/MEREERB-TENTEE LA,

TUYKKIHESDIND LS UEAZSNDEEE, PRAESEZEML TSN,

5]

D)

F3SJ-B-02TS
VEPYVEPZI L == %



[ ] > |

WM TER (A Y 4+ ERERR)

| = |y cumEz| - |

BiEFIvy

[RIEER Y 485
30

(Jé;;ff;l) ‘@\ — 6.5
?&‘) w| 8
I

hEER 2

(F39-L0B2) ~ 1M

o o

3 o w
-
Yy |
2

(F39-LJB1)

M3x 6

33.6
47.8

SHEA~EICDLNT

D
C_(#xHiE)

22.5
34.5

2-M8 °
4M5 L
S wﬁ
T T
|1 |
|1
22 ‘ 2 L.
o 1 - el =
2-M5 2-M5
I
[
yany
D
Mo D EIE> M8+ CEIE>
[ BfL: mm ]

~HEA C+69

~HiEB C+422

sHi&C P DITOKTF (FRHiE)

~H&D C-45

SHEE BRHBICE>TELYET, TRERRILZSL,
SHEEICDNT

1R HE FREIEEDH SHAE

0225~0545 0 -

0625~1105 1 B/2

1185~1585 2 B/3

1665~1985 3 B/4

* EREEHEICK Y B O NI EEEER LB WNMEREIZTI0mmUT ET S,

S RHIEASmmE R R HIHE . ML TERICERESATLIREOKE
o MEITHEBMGEE, ER/MEERTENTEZEA,

F3SJ-B-02TS

VEPYVEPZI LD ==V %

SN ETF&EGF9-LUBY), HEEEFFI-LIBOUSN DEIFER
Q TesaruEsBLTEEN,

q TUYKKIZHES SN D LI BHEAZESNDEHAEL, PHESEZEML TS,

. MEICLEAoTHRMEREZHEAL TEEW,

. ATERIC DWW TR, F3SU-B-02TSS ) — X2 —H—

=]
=<
=
=

B
= <1j:| A
a3

53
&
S
it

(e



- | ) | & [muse-twmEz]| & [ sEroos

6-2. Y {1+ 5% & AR
%Q RETSERAKIHEL TOEEA. HNRBANLE CBESBYET.

al BESEORL N EEHET,

<HEEBYDH

RENRFARILMI X 12)

LR x0)
FREEQ)

RARMSRILE

(M3 x18)
EIEELIO)
A 5
RIERYOT> BRI A TFIARBESIS

EITELIONS FRLBQDHEEELEZS

HRIEE@NSRYET
x . LTSI
aﬁ)ﬁgww f LCELIO) " S A(1)

PREEQ)

£

NARMHRIVE
(M3 x18)

HREIEE®) PRIEEG)

hESRQE
PHERQ) sz HRESEGR)ICANS

hREEx0)

hRIEE®)

2. PRALEE T —RIRBHLES,
<E@ERYD1> <EERYD1F>

SEEE hRER0)

hRERx0) SEE

hRIEEQ) P& EQ2)

HREIEE®) HREIEE®)

F3SJ-B-02TS
JA9 9LV RAM=LT=2T



MR - | ey

| = [musi-cumz| & | wrroos

3. EFEEE7—RIZHYHITET,
<HEERYDIF>

REANFARILE(M3%6)
(HEREBOR TR ILY :054Nm)

D s

AERARILE
A . LTF&E (M3x8)

<{IEERY D>

RANARILE(M3x6)
(EREDHH FRILY :054Nm)

: BENIX)

L rren  ABAEL |
(M3 x8)

<E@EERYDIT> <fIEERYDIF>

Gan) |l

AATUFHRILMMS x 12)
GHESERO AT IL Y :0.54Nm)

RARMHRILMMI X 12)
(HEE#RO A F LY :0.54Nm) e

mYDIHIEIZEhES

LTEALERD
ROERFHT D

BEEERY DR (M)

=

_LEEERY DI R S(M5)

=

EBEEERY DR (M)

EEERY DR I(MS)

EEEERY DI KD (M5)

S\ BEEORY MR IFRLTOERA,

o
o
@

F3SJ-B-02TS
VEPYVEPZI LD ==V %

REANARILMMI X 12)
(eSO T LS :054Nm)

PRIEEQ)LETD
ROERFHT S

SN EEEERY D1+ S(MS)

=
e

o
g2
ok

O

=]
=
=
=

=
e
S
it

(D)<



=3

O

g2
E3

153

Ok

=
o

i

- | B | = [mus tw@Ez| & | Brross

5 RN ESECRMMBEITVES,

RERTISTBA RIS

AEORLIZEDES

REETATSTORAIT S N -
BEOPOIEEDED <HEE> <EAE>

&IOS A S AT

ASEHAONLELMED
M| 170%eltTmiT
BT RO S8 A RAT

—
| — ST —| |4

=
u 7
LB — || 5 g
=
EMITTER RECEIVER
(BhE8) (S7648)

q R ER S £ (] F39-LIB2) D A EAREEFE 13 +30° TY,
Q

6. REFHL TWELETEE, PESEDRELEHAAHINTRILE (M3 x 8, M3 x 18) ERBHDHOLET,

<EE@RYDIT> <BIEERYD+> <PHEAE>

)

RARGRILS
(M3 x8)
(HESAHRS 1 IL2:0.54Nm)

<$FLEKE>

<EEERYDIF>

O e a8 o oao

RANRSRILE
(M3 18)
(HESHR &1 IL2 :0.54Nm)

SN BERDRI T OMOEINTRAL, RN VAL CEKFHOL TS,
o

S HBEEAE CBAA LY TERT S LHBORE LG Y T,

22

F3SJ-B-02TS
VEPYVEPZI L == %



- | R | = [museotwEz| > [ Bz

1.8%EFzv Y

B4R, WY T - BB BN G- =5. F3SI-B-02TS DEEF v I ZEHL TLEEL,

(B 867 v 5 EFISU-B-02TS2 Y —R2—H T2 PARBOF T 9 5 YR FITRODEBL TS,
[B\ FSTLYa—F AL TITDNTH, FISUB-02TS2 =R 2—H—R T2 FAEBRBLTIEE L,

CREER

Y, —MIELREGOABRE L TEEIEEIATVET, BVEL T RICBUYIARTOFEREAERILTHL5T. $EH
PEMBRE NS ORICERSINIRICE, S EHHFRICHL T— ’fﬂﬁuﬁ’%b\t A, £EL. REBUYIERTH-TH
YHOBR L EREERAEDBEPHIDOEEN b 558 3RE £ T,
(a) BWReMIDEE ShDEE Bl RFNEIEERGR. MexiE M2 - FHXMA. skl FESE. RERRE ERlS. %
LRE. TOMMES - SHICERI RV D 2 /8)
() SVVEEMPDELEE (fl: HX - K& - BREOHIEY AT L, 24 BEEHKER Y X T L, REYZT LIENER - BE £ BUR
SHEL &)
(©) BLWEHE L RRETORE (B BSMCRE T 2 5fk ALFHER £ 5 5 ik, ERAVHE £ 1 5 3%fF. RE) B LR RMHE L)
(d) HEZATEICREDHE VWEAEPRIETCORR
fa) 25 (d) ICEH SN TV A, AH2OJETHOBRREHE (CTHEST, UTRAL) MIITRs) LA, BBEICEHETS
ARICEABALEVNTTEV, BBEEHABRIC OV TIESHEFALECIBERC LT,
EEEEROERED—TT, BHONI MEEHFAT . T—2 Y- MERFHRND A SO, Y227 VICRHEORI #EE
BEORTE LA TIERCEE L,

ALORKERL 1 4207 VA- =y 3 23182~

OHRICEHTIBHVEhESE
15@1%1‘5"""‘

#:0120-919-066

B PHS IPEREAETRIFIAVWALZTEEAD T, TROBEESABP IS,
£:% 055-982-501 5 cazsmnruzs)
WE 5[ © 8:00~21:00 WE%H : 365H
OFAXPWebN— S THBMVEbE VLT ET,
FAX 055-982-5051 / www.fa.omron.co.jp

@ ZND BV EDE
HH - A - BT EBRBEEMOSEGIL. FAREHEBELA LOVRTERICTHEHK LS,
F L0 HIEEERERTEE P 4 L0 S BRGEH S IE. WebN—Y TIERL TV T,

F3SJ-B-02TS
VEPYVEPZI LD ==V %

10



	Introduction
	Table of Contents
	1. What is Included
	2. System Components
	3. Light Curtain Setup Flow
	4. Function Selection Flow Chart
	5.Wiring Examples
	5-1. EDM not used, auto reset mode, external test used, muting function not used, PNP output
	5-2. EDM used, auto reset mode, external test used, muting function not used, PNP output

	6. Mounting and Beam Alignment
	6-1. Mutual Interference Prevention
	6-2. Distance from Reflective Surfaces
	6-3. Safety Distance
	6-4. External dimensions to attach the top/bottom brackets (F39-LJB1) and intermediate brackets (F39-LJB2)
	6-5. Mounting and Beam Alignment

	7. Pre-Operation Checklists / Maintenance Checklists
	Suitability for Use/Contact Information
	はじめに
	目次
	1. 同梱物のご確認
	2. 各部の名称
	3. ライトカーテンセットアップの流れ
	4. 機能選択フローチャート
	5.配線例
	5-1. EDM未使用、オートリセットモード、外部テスト使用、ミューティング機 能未使用、PNP出力
	5-2. EDM使用、オートリセットモード、外部テスト使用、ミューティング機能 未使用、PNP出力

	6. 取り付け・光軸調整
	6-1. 上下金具(形F39-LJB1)、中間金具(形F39-LJB2)を取り付ける場合の外形寸法
	6-2.取り付け方法と光軸調整

	7. 動作チェック
	ご承諾事項/お問い合わせ先

